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= = TE A\ & T A T = = TN e = T A = =
1 100kN/ Mm% B2 5 1.00{ 0.00 ~ 3.20 151.13|3m%#%%|0.00 ~ 0.13| 3.07 15.50( 100kN/mM#%#BZ % 1.00| 10.62 ~ 33.90 151.13|3m%#Z 5| 30.00 ~ 33.90[ 3.07 15.50
Zzhn st 1.00{ 3.20 ~ 10.98 100.00| Zh s |0.13 ~ 10.98| 3.00 15.16 zh st 1.00f 5.00 ~ 10.62 100.00| zh s | 5.00 ~ 30.00| 3.00 15.16
2 100kN/ Mm% B2 5 1.00{0.00 ~ 244 138.10|3m%E#E 2% -~ - = —| 100kN/mM%#B 2% 1.00| 11.42 ~ 21.86 138.10| 3m%#B 25 ol ~ = = -
zhst 1.00f 2.44 ~ 10.22 100.00| Zh A5t | 0.00 ~ 10.22| 2.98 15.08 ZTh st 1.00] 500 ~ 1142 100.00| #hdst | 5.00 ~ 21.86| 2.98 15.08
3 100kN/mM%E#8% % 1.00{ 0.00 ~ 0.07 101.06|3mZE#EZ 5 — ~ - - —| 100kN/mM%E#E 23 1.00{ 10.53 ~ 10.72 101.06|3ImZE#EZ D o ~ - - -
zhst 1.00{ 0.07 ~ 7.86 100.00| Zh A5t |0.00 ~ 7.86] 2.20 11.12 ZTh st 1.00f 5.00 ~ 10.53 100.00| #hdst | 5.00 ~ 10.72| 2.20 11.12
4 100kN/mM%#8 2% -l -~ = -|3mZE#BEZB| - ~ = = -| 100kN/ %8z 5 = -~ = ~-|3m%#BZ % -~ - - -
zhs 1.00{0.00 ~ 6.97 88.36) Zh s |0.00 ~ 6.97| 1.69 8.56 ZTh st 1.00f 500 ~ 875 88.36| #h s | 500 ~ 8.75| 1.69 8.56
5 100kN/mM%#8 2% -l -~ = -|3mZE#BEZB| - ~ = = -| 100kN/ %z 5 = -~ = —-|3m%#BZ % -~ - - -
zhst 1.00{ 0.00 ~ 445 5548 Zh s |0.00 ~ 445 2.29 11.56 ZTh st 1.00] 500 ~ 741 5548 Zh s | 500 ~ 7.41| 2.29 11.56
6 100kN/ Mm% 25 1.00( 0.00 ~ 3.27 152.34|3m%z#25|0.00 ~ 0.16] 3.08 15.59| 100kN/mM#%#BZ % 1.00| 10.54 ~ 29.66 152.34|3mZz#EZ 5| 25.00 ~ 29.66| 3.08 15.59
Zzhn st 1.00f 3.27 ~ 11.05 100.00| Zh s |0.16 ~ 11.05] 3.00 15.16 zh st 1.00] 5.00 ~ 1054 100.00] zh s | 5.00 ~ 25.00| 3.00 15.16
7 100kN/ Mm% 825 1.00{0.00 ~ 243 138.00| 3m%E#BZ % -~ - = —| 100kN/mM%#B 25 1.00| 11.47 ~ 31.81 138.00| 3m%#E 25 ol ~ = = -
ZzhnLst 1.00 2.43 ~ 10.21 100.00| Zh s |0.00 ~ 10.21| 2.89 14.60 zh st 1.00] 500 ~ 1147 100.00| zh s | 5.00 ~ 31.81| 2.89 14.60
100kN/mM% 8% % ~ ImEHBZD ~ 100kN/mM#%H#BZ % ~ ImEHBZ D ~
Zh st ~ Zh st ~ Zh st ~ Zhs ~
100kN/mM% 8% % ~ ImEHBZD ~ 100kN/mM#E#BZ % ~ ImEHBZ D ~
Zh s ~ Zh st ~ Zh st ~ ZThst ~
100kN/mM%#8 2% ~ ImEHBZ D ~ 100kN/mM%H#BZ % ~ ImEHBZ B ~
Zh st ~ Zh s ~ Zh st ~ ZThst ~
100kN/mM%#8 2.5 ~ ImEHBZ D ~ 100kN/mM%H#BZ % ~ ImEHBZ B ~
Zh st ~ Zh st ~ Zh st ~ ZThst ~
100kN/m%#8 2% ~ ImEHBZ D ~ 100kN/mM%H#BZ % ~ ImEHBZ B ~
Zh st ~ Zh st ~ Zh st ~ ZThst ~
100kN/m%#8 2% ~ ImEHBZ D ~ 100kN/mM%Z#B% % ~ ImEBZD ~
Zzh st ~ Zzhus ~ Zzh st ~ Zzh st ~
100kN/m%E #2825 ~ ImEHBZD ~ 100kN/mM%Z#BZ % ~ ImEBZD ~
Zzh s ~ Zzhus ~ Zzh st ~ Zzh st ~
100kN/m%E#8 2% ~ ImEHBZD ~ 100kN/mM%Z#BZ % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh st ~ Zh st ~
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